Pattern	Color	Item	Sale Price
Animal Dish	Amber	Bird & Berry	\$350.00
Animal Dish	Amber	Hen	\$45.00
Animal Dish	Amber	Rabbit	\$50.00
Animal Dish	Amber	Rabbit Lid	\$10.00
Animal Dish	Canary	Hen Lid	\$55.00
Animal Dish	Chocolate	Cat on Hamper	\$75.00
Animal Dish	Chocolate	Dolphin	\$40.00
Animal Dish	Chocolate	Dolphin	\$35.00
Animal Dish	Chocolate	Dolphin	\$7.50
Animal Dish	Chocolate	Dolphin	\$15.00
Animal Dish	Chocolate	Hen Lid	
Animal Dish	Emerald Green	Bird & Berry	\$800.00
Animal Dish	Emerald Green	Hen	\$40.00
Animal Dish	Emerald Green	Rabbit Lid	\$10.00
Animal Dish	Opaque White	Hen	\$50.00
Animal Dish	Opaque White	Hen Lid	
Animal Dish	Teal	Hen	\$65.00
Animal Dish	Teal	Rabbit	\$50.00
Animal Dish	Teal	Rabbit Lid	\$10.00
Austrian	Amber	Punch Cup	\$20.00
Austrian	Canary	Child Creamer & Sugar Lot	\$100.00
Austrian	Canary	Cordial	\$35.00
Austrian	Canary	Cordial	\$25.00
Austrian	Canary	Tumbler	\$60.00
Austrian	Canary	Wine x 2 (sold \$25 each)	\$50.00
Austrian	Chocolate	Child Creamer	\$90.00
Austrian	Chocolate	Child Spooner	\$90.00
Austrian	Chocolate	Creamer & Sugar Lot	\$10.00
Austrian	Chocolate	Lid	\$10.00
Austrian	Chocolate	Sugar with lid	\$50.00
Austrian	Chocolate	Sugar (no lid)	\$20.00
Austrian	Cobalt Blue	Child Creamer	\$325.00
Austrian	Crystal	10" Vase	\$25.00
Austrian	Crystal	6" Vase	\$10.00
Austrian	Crystal	8" Vase	\$12.50
Austrian	Crystal	Bowl	
Austrian	Crystal	Bowl	
Austrian	Crystal	Butter	\$40.00
Austrian	Crystal	Goblets x 6 (sold \$10 each)	\$60.00
Austrian	Crystal	Cake Stand	\$55.00
Austrian	Crystal	Cake Stand	\$25.00

Austrian Austrian	Crystal Crystal	Child Creamer Child Sugar	\$10.00
Austrian	Crystal	Compote	\$30.00
Austrian	Crystal	Cordial & Wine Combo	\$40.00
Austrian	Crystal	Cordial & Wine Combo x 3 (sold \$30 ea	\$90.00
Austrian	Crystal	Creamer & Sugar Lot	\$15.00
Austrian	Crystal	Spooner	\$5.00
Austrian	Crystal	Creamer	
Austrian	Crystal	Creamer, 1/2 Lb Butter, & Sugar Lot	\$50.00
Austrian	Crystal	Jelly	\$15.00
Austrian	Crystal	Large Rectangle Dish	\$30.00
Austrian	Crystal	Small Rectangle Dish	\$30.00
Austrian	Crystal	Large Rose Bowl	\$25.00
Austrian	Crystal	Pitcher	\$50.00
Austrian	Crystal	Punch Cup x 5 (sold \$5 each)	\$25.00
Austrian	Crystal	Punch Cup	
Austrian	Crystal	Salt	\$15.00
Austrian	Crystal	Sauce	
Austrian	Crystal	Small Rectangle Dish	
Austrian	Crystal	Small Rose Bowl	\$25.00
Austrian	Crystal	Spooner	\$20.00
Austrian	Crystal	Square Plate Small and Large Lot	\$30.00
Austrian	Crystal	Tumbler	\$15.00
Austrian	Crystal	Tumbler	\$15.00
Austrian	Crystal	Tumbler	
Austrian	Crystal	Wine	
Austrian	Crystal		
Austrian	Crystal		
Austrian	Emerald Green	Cordial	\$60.00
Austrian	Emerald Green	Punch Cup	\$15.00
Beaded Panel	Crystal	Creamer	\$20.00
Beehive	Crystal	Goblet x 2 (sold \$25 each)	\$50.00
Beehive	Crystal	Wine x 2 (sold 12.50 each)	\$25.00
Brazen Shield	Crystal	Goblet x 2 (sold \$12.50 each)	\$25.00
Brazen Shield	Cobalt Blue	Master Berry	
Brazen Shield	Cobalt Blue	Pitcher	\$150.00
Brazen Shield	Cobalt Blue	Sauce	
Brazen Shield	Cobalt Blue	Spooner	\$30.00
Brazen Shield	Cobalt Blue	Tumbler	
Brazen Shield	Cobalt Blue	Tumbler	
Brazen Shield	Cobalt Blue	Tumbler	
Cactus	Chocolate	Sauces (5)	
Cactus	Chocolate	Butter	\$10.00

Cactus	Chocolate	Cracker	\$30.00
Cactus	Chocolate	Iced Tea	\$5.00
Cactus	Chocolate	Large Compote	\$25.00
Cactus	Chocolate	Pitcher	\$40.00
Cactus	Chocolate	Smaller Compote	\$30.00
Cactus	Chocolate	Spooner	\$15.00
Cactus	Chocolate	Salt (Red Agate)	\$30.00
Cactus	Chocolate	Toothpick	
Cactus	Chocolate	Tumbler x 3 (Sold \$5 each)	\$15.00
Cactus	Chocolate	Tumbler	
Cactus	Chocolate	Tumbler	
Cord Drapery	Crystal	Master Berry	
Cord Drapery	Amber	Cruet	\$80.00
Cord Drapery	Amber	Fluted Bowl	\$20.00
Cord Drapery	Emerald Green	Fluted Bowl	\$30.00
Cord Drapery	Cobalt Blue	No Lld Jelly	\$45.00
Cord Drapery	Cobalt Blue	Tumbler	\$90.00
Cord Drapery	Crystal	jelly	
Cord Drapery	Crystal	Large Butter	\$27.50
Cord Drapery	Crystal	Sauce	
Cord Drapery	Crystal	Toothpick	\$35.00
Cord Drapery	Crystal	Tumbler	\$10.00
Cord Drapery	Crystal	Water Tray	
Cord Drapery	Crystal	Wine x 2 (sold \$20 each)	\$40.00
Cord Drapery	Cobalt Blue	Fluted Bowl	\$125.00
Cord Drapery	Emerald Green	Pitcher	\$275.00
Daisy	Emerald Green	Butter - Frosted	\$20.00
Daisy	Emerald Green	Creamer - Frosted	\$20.00
Daisy	Emerald Green	Sugar - Frosted	\$20.00
Dewey	Amber	Cruet No Stopper	
Dewey	Amber	Large Creamer	
Dewey	Amber	Master Berry	
Dewey	Amber	Amber and Crystal Mug Lot	\$15.00
Dewey	Amber	Pitcher & 6 Tumbler Lot	\$120.00
Dewey	Amber	Master Berry	\$20.00
Dewey	Amber	Sauce x 3 (sold \$10 each)	\$30.00
Dewey	Amber	Sauce x 2 (sold 2\$2.50 each)	\$5.00
Dewey	Amber	Sauce	
Dewey	Amber	Sauce	
Dewey	Amber	Small & Large Serpentine Lot	\$15.00
Dewey	Amber	Small Sugar	
Dewey	Amber	Small Sugar	

Dewey Dewey	Amber	Tumbler	
Dewey	Amber	Tumbler	
Dewey	Amber	Tumbler	
Dewey	Crystal	Sugar No Lid	\$12.50
Dewey	White	Sugar No Lid	\$15.00
Dewey	Canary	Mug	\$20.00
Dewey	Chocolate	Parfait With Lid	\$30.00
Dewey	Chocolate	Small Butter, Creamer, & Sugar Lot	\$100.00
Dewey	Chocolate	Small Creamer	
Dewey	Chocolate	Small Sugar	
Dewey	Emerald Green	Cruet	\$30.00
Dewey	Emerald Green	Mug	\$12.50
Dewey	Emerald Green	Mug	\$12.50
Dewey	Emerald Green	Mug	\$12.50
Dewey	Emerald Green	Small Serpentine	\$12.50
Dewey	Emerald Green	Sugar No Lid	
Dewey	Emerald Green	Sugar No Lid	
Dewey	Nile Green	Mug	\$100.00
Dewey	Teal	Mug	\$50.00
Diamond Prism	Crystal	Goblet	\$25.00
Early Diamond	Crystal	Goblet	\$30.00
Early Diamond	Crystal	Pitcher	\$45.00
Herringbone Buttress	Crystal	Sauce	\$10.00
Herringbone Buttress	Crystal	Cake Stand	\$110.00
Herringbone Buttress	Crystal	Cordial	\$25.00
Herringbone Buttress	Crystal	Goblet x 2 (sold \$30 each)	\$60.00
Herringbone Buttress	Crystal	Tumbler	\$30.00
Herringbone Buttress	Crystal	Vase	\$55.00
Herringbone Buttress	Crystal	Wine	\$20.00
Herringbone Buttress	Emerald Green	Butter Lid	\$35.00
Herringbone Buttress	Emerald Green	Punch Cup	\$15.00
Herringbone Buttress	Emerald Green	Cordial with etching	\$150.00
Herringbone Buttress	Emerald Green	No Lid Sugar	
Herringbone Buttress	Emerald Green	Wine	\$90.00
Holly	Golden Agate	Small Sauce	\$100.00
Holly	Golden Agate	Damaged Pitcher and caracked tumble	\$175.00
Holly	Golden Agate	Tumbler	\$125.00
Holly	Golden Agate	Tumbler	\$125.00
Holly	Golden Agate	Tumbler	\$125.00
Holly	Golden Agate	Tumbler	\$125.00
Inincible	Crystal	Pitcher	
Inverted Thumbprint	Teal	Goblet	

Leaf Bracket	Chocolate	Creamer, Sugar, Spooner, Butter	\$70.00
Leaf Bracket	Chocolate	Plate	\$20.00
Leaf Bracket	Chocolate	Butter	\$12.50
Leaf Bracket	Chocolate	Butter	\$12.50
Leaf Bracket	Chocolate	Celery	\$12.50
Leaf Bracket	Chocolate	Cruet	\$35.00
Leaf Bracket	Chocolate	Master Berry & 6 Sauces	\$17.50
Leaf Bracket	Chocolate	Nappy	
Leaf Bracket	Chocolate	Nappy	
Leaf Bracket	Chocolate	Nappy	
Leaf Bracket	Chocolate	Nappy	
Leaf Bracket	Chocolate	Oval Bowl 2 sizes	\$15.00
Leaf Bracket	Chocolate	Salt	\$25.00
Leaf Bracket	Chocolate	Sauce	
Leaf Bracket	Chocolate	Sauce	
Leaf Bracket	Chocolate	Sauce	
Leaf Bracket	Chocolate	Sauces (5)	
Leaf Bracket	Chocolate	Spooner	
Leaf Bracket	Chocolate	Sugar	
Leaf Bracket	Chocolate	Sugar No Lid	
Leaf Bracket	Chocolate	Tumbler	\$5.00
Leaf Bracket	Chocolate	Tumbler	\$5.00
Mug	Chocolate	Drinking Scene	
Mug	Chocolate	Drinking Scene	
Novelty	Amber	Dust Pan	\$45.00
Novelty	Amber	Wheelbarrow	\$40.00
Novelty	Nile Green	Buffalo - missing 1 ear	\$90.00
Novelty	Nile Green	Cuff Set	\$260.00
Novelty	Opaque White	Trunk	\$70.00
Novelty	Teal	Dewey Bust	\$30.00
Pattern 75	Emerald Green	Toothpick	
Pitcher	Chocolate	Ruffled Eye	\$300.00
Pitcher	Chocolate	Squirrel	\$150.00
Pitcher	Crystal	Bringing Home the Cows damaged	\$20.00
Pleat Band	Crystal	Jelld Compote x 2 (sold \$20 each)	\$40.00
Shuttle	Chocolate	Tankard Creamer	\$10.00
Pleat Band	Crystal	Goblet (sold \$10 each)	\$20.00
Teardrop & Tassle	Cobalt Blue	Butter Lid	\$20.00
Teardrop & Tassle	Cobalt Blue	Creamer	\$30.00
Teardrop & Tassle	Cobalt Blue	Creamer	\$30.00
Teardrop & Tassle	Cobalt Blue		
Teardrop & Tassle	Cobalt Blue	Master Berry	\$35.00

Toardron Q Taccla	Cobal+ Dlug	Ditcharytumblar	\$60.00
Teardrop & Tassle	Cobalt Blue	Sauces (5) (sold \$5 each)	\$25.00
Teardrop & Tassle	Cobalt Blue	Sugar No Lid	\$25.00
Teardrop & Tassle	Cobalt Blue	Tumbler	\$30.00
Teardrop & Tassle	Cobalt Blue	Tumbler	\$30.00
Teardrop & Tassle	Cobalt Blue	Tumbler	\$15.00
Teardrop & Tassle	Cobalt Blue	Tumbler	\$15.00
Teardrop & Tassle	Cobalt Blue	Tumbler	
Teardrop & Tassle	Crystal	Covered Compote	\$35.00
Teardrop & Tassle	Crystal	Goblet	\$45.00
Teardrop & Tassle	Crystal	Pitcher	\$15.00
Teardrop & Tassle	Crystal	Pitcher	\$15.00
Teardrop & Tassle	Crystal	Pitcher	\$35.00
Teardrop & Tassle	White	Sugar No Lid	\$5.00
Teardrop & Tassle	Crystal	Sugar No Lid	
Teardrop & Tassle	Emerald Green	Tumbler	\$150.00
Toothpick	Crystal	Sheaf of Wheat	
Tumbler	Chocolate	Outdoor - no handle	\$45.00
Pleat Band	Crystal	Pitcher	\$25.00
Teardrop & Tassle	Crystal	Sugar No Lid	\$25.00
Teardrop & Tassle	Crystal	Creamer	\$25.00
Teardrop & Tassle	Crystal	Butter	\$15.00
Overall Lattice	Crystal	Wine x 2 (sold \$7.50 each)	\$15.00
Barware	Teal	Inverted Thumbprint	\$10.00
Pleat Band	Crystal	Butter, Creamer, Sugar, Spooner	\$20.00
Pleat Band	Crystal	Celery	\$12.50
Mugs	Chocolate	2 Drinking Scene Mug Lot	\$25.00
Tumbler	Chocolate	Uneeda Biscuit	\$50.00
Pleat Band	Crystal	2 Compote Size Lots	\$37.50
Novelty	Crystal	Mitted Hands	\$8.00
Leaf Bracket	Chocolate	Bowl	\$10.00